
WELD 4 SIDESWELD 4 SIDESWELD 4 SIDESWELD 4 SIDES

2”

8”

DRILLED @ 9/16” USE DRILLED @ 9/16” USE DRILLED @ 9/16” USE DRILLED @ 9/16” USE 
3/8”X3 3/4” WEDGE 3/8”X3 3/4” WEDGE 3/8”X3 3/4” WEDGE 3/8”X3 3/4” WEDGE 
ANCHORANCHORANCHORANCHOR

3/8”3/8”3/8”3/8”

1”x2” 14GA 1”x2” 14GA 1”x2” 14GA 1”x2” 14GA 
STEEL TUBESTEEL TUBESTEEL TUBESTEEL TUBE

1”

25W30-34 1/2” HIGH 14 GA. TUBE - $24.50 EA25W30-34 1/2” HIGH 14 GA. TUBE - $24.50 EA25W30-34 1/2” HIGH 14 GA. TUBE - $24.50 EA25W30-34 1/2” HIGH 14 GA. TUBE - $24.50 EA
25W40-46 1/2” HIGH 14 GA. TUBE - $24.75 EA.25W40-46 1/2” HIGH 14 GA. TUBE - $24.75 EA.25W40-46 1/2” HIGH 14 GA. TUBE - $24.75 EA.25W40-46 1/2” HIGH 14 GA. TUBE - $24.75 EA.

2X8X3/8” STEEL BOTTOM PLATE2X8X3/8” STEEL BOTTOM PLATE2X8X3/8” STEEL BOTTOM PLATE2X8X3/8” STEEL BOTTOM PLATE
2 PRE DRILLED HOLES AT 9/16” EA.2 PRE DRILLED HOLES AT 9/16” EA.2 PRE DRILLED HOLES AT 9/16” EA.2 PRE DRILLED HOLES AT 9/16” EA.
ORDER 3 3/4” X 3/8” ANCHOR BOLTSORDER 3 3/4” X 3/8” ANCHOR BOLTSORDER 3 3/4” X 3/8” ANCHOR BOLTSORDER 3 3/4” X 3/8” ANCHOR BOLTS
USE SELF DRILLING FRAMING SCREWS USE SELF DRILLING FRAMING SCREWS USE SELF DRILLING FRAMING SCREWS USE SELF DRILLING FRAMING SCREWS 
                TO ATTACH NOFLEX TO METAL STUDTO ATTACH NOFLEX TO METAL STUDTO ATTACH NOFLEX TO METAL STUDTO ATTACH NOFLEX TO METAL STUD

WWW.NOFLEX.COM

1X2” MODEL WITH 3” 1X2” MODEL WITH 3” 1X2” MODEL WITH 3” 1X2” MODEL WITH 3” 
WIDE BASEWIDE BASEWIDE BASEWIDE BASE


